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Instructions: (1) All questions in Section — I carry equal marks.

(2) Attempt any two questions in Section — .

(3) Question 5 in Section — 11 is Campufsbﬂ’- J

SECTION —

10

1. (A) Whatis ﬁuman Resource Manage ain obiéctives of HRM.

? Differe and Strategic HRM. 10 .

2.  (A) Discussimpo e and limitations of HR Planning. 10
(B @m methods of training tor workers. | 10

) s performance evaluation ? E..lain process of performance evaluation. 10
(B) What is social security ? Discuss characteristics of social security. 10

4. (A) Explain objectives of trade unions. 10

(B) What is Strategic

(B) What is industrial dispute ? Discuss causes of Industrial disputés. 10

SA-132 | 4



SECTION -11

5. Choose correct option. (attempt any five) 10
(1) HRM as practiced by multinational organizations is called

(a) Global HRM

(b) Personnel Management
(¢) Domestic HRM

(d) International HRM

(2) - What is good and bad or r_ight and wrong or has to deal with du

is referred to as .
(@) Responsibilities (b) Ethics
(c) Social expectations (d) Standarc!s

(3) Which is not included in external factors
(a) Trade Unions

(c) Trendor Fashlon

(4) Whlch matter is

(a) Financial

(c)

(E) Technical progress.
(d)- Job satisfaction

s not related with the: lmportance of training ?

ity Control (b) Inventory Control
onnel Control (d) Wastage Control

(c)

Who can not be an evaluator of perfonnance ?

(a) Traders ' (b) Customers
(c) Peer Groups - (d) Supervisors

(7) Canteen facilities must be available in the factory where more than

employees are working. | |
“(a) 200 < (b) 250
(c) 300 o (d) 500 .
s 8 P.T.O.



(8) Who_:_;:an never be reSpDn_éible for employee welfare facilities ?
(3) Trade Union (Lb) Society
(¢) Employee (@ Central Government

whom is included ?

o‘\\

(9) In the concept otjir_ldustrial relation. mainly relation with
(a) Shareholders ‘b) Customers
~(c) Employees (d) Other industrie

?

(10) Which is not included in the economic causes of industrial disputes

(a) Wage (b) Dearness Allowance
(c) Bonus (d)  Working Condition_ ‘
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-1l is Compulsory.
IS permitted.

(4) Useof calculator

% applying (i) Maxi-min
T ﬂ’ Also find the value of

10
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3) Prepare a PERT chart for the following project. Determine ES1, EFT, LST. LFT -

and Float Time for each activity. 10
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_ SECTION—II 0
5.  Answer in brief : (any five)
(1)  State the types of Physical model.
(i) If for a strategy différent pay-offs under four events are respectively 8, =5, 10 and
20 and if coefficient’ of -optimism: & = v.6, find the 'expe‘:téd pay-off for the
strategy By Humitz's principle.

(iii, What is an artificial variable ? Explain its importance in Simplex method.

(iv) Give the name of methods for obtaining basic feasible sol;itién of transpo '\
problem.
(v) Whatis 'degeneracy in transportation problem ? | ‘

(vi) State the conditions of reducing a three machine sequenci m 1 two
' machine sequencing -problem.
(vii)' Define : Pure surategy, Mixed strategy.

L]
&
¥

of game theory.

(viii) Write down the name of two methods fi
(1x) Explain. Expected time in'the PE
(x) For an activity ' EST =‘Ti

12



